Filozofická fakulta Ostravské univerzity v Ostravě

Informace o přijímacích zkouškách podle studijních programů

1.  Studijní program 7504T Učitelství pro střední školy
a) Studijní obor  Učitelství anglického jazyka pro SŠ 

Forma přijímací zkoušky: písemná a ústní

Test z angličtiny - varianta A

Úplné zadání písemné přijímací zkoušky nebo její části (u testů s výběrem odpovědi správné řešení):      

Entrance exam 2003

Part
1: Cultural test version A

Time: 15 min.

name:





combination subjects:

room:





corrector:

date:





number of points:

Univerzitní číslo:


Svým podpisem stvrzuji, že jsem seznámen(a) s Harmonogramem přijímacího řízení na FF OU na akademický rok 2003/04 a že se seznámím s výsledky přijímacího řízení na úřední desce FF OU nebo na internetových stránkách http://stag.osu.cz/prijimacky2/index. Svým podpisem rovněž stvrzuji, že jsem způsobilý(á) vykonat písemný test.








Podpis:


Potvrzuji, že jsem byl(a) seznámen(a) se skutečností, že v přijímacím testu nelze používat obyčejnou tužku a že je nutné rozlišovat mezi velkými a malými písmeny.








Podpis:


Circle the correct answer.

1.What is celebrated on the fourth Thursday of November in the U.S.?

a) Independence Day

b) Halloween

c) Labor Day

d) Thanksgiving Day

2 . Which of these people was not American president?

a) Herbert Hoover

b) Gerald R. Ford

c) Ulysses S. Grant

d) Theodore Roosevelt

e) Benjamin Franklin 

3. The battles of Concord and Lexington, and the Battle of Saratoga happened in the

a) French-Indian War.

b) War of Independence.

c) Mexican War.

d) Civil War.

e) Star Wars.

4. George Custer was

a) a poet, writer of plays, and literary critic, the author of the Waste Land.

b) a general who fought the Indians and lost the Battle of Little Big Horn.

c) a famous explorer who led the expedition to Oregon.

d) a well-known producer of Kentucky custard.

5. What is the name of the contemporary U.S. Secretary of State?

a) Colin Powell

b) Madeleine Albright

c) Donald Rumsfeld

d) Jason Halfbright

e) John Bull

6. Jim is an important character in the novel

a) Moby Dick.

b) The Adventures of Huckleberry Finn.

c) The Grapes of Wrath.

d) The Old Man and the Sea.

7. Who is the author of the novel On the Road?

a) Allen Ginsberg

b) Mark Twain

c) John Hewlett-Packard

d) Jack Kerouac

e) E. A. Poe

8. Which of these states is not located in the West of the USA?

a) Utah

b) Washington

c) Maine

d) Oregon

e) California

9. Who were the first Europeans to settle Manhattan?

a) the Dutch

b) the Spanish

c) the French

d) the English

e) the Celts

10. Chicanos are

a) the band playing Latino (salsa) music.

b) the Indian tribe living in the Southwest.

c) residents of Chicago.

d) Americans of Mexican descent (Mexican Americans).

11. Which of these groups of islands is not part of the British Isles?

a) Falklands

b) Hebrides

c) Orkneys

d) Shetlands 

12.  Great Britain consists of 

a) England, Scotland and Northern Ireland.

b) England, Scotland and Ireland.

c) England, Scotland and Wales.

d) England and Scotland.

13. Magna Carta was a document in which

a) barons criticized the usurping king.

b) peasants asked for liberty.

c) industrial labourers demanded higher wages.

d) king declared himself to be the head of the Anglican Church.

14.  The Celts came to the British Isles 

a) 10 000 years ago.

b) in the 1st millennium B.C.

c) between the 4th and the 8th century.

d) in the 11th century.

15.  Ulster is a province in

a) Northern Ireland.

b) England. 

c) The Republic of Ireland.

d) Wales.

16. The residence of the British Cabinet is in

a) Whitehall.

b) Downing Street.

c) Congress.

d) Buckingham Palace.

17.  Which of these writers is not English?  

a) George Orwell

b) Samuel Beckett

c) Charles Dickens

d) D. H. Lawrence

18.  Which of these newspapers is not British?

a) Daily Laborer

b) The Independent 

c) The Sun

d) The Guardian

19.  Which of these British Prime Ministers signed the Munich Treaty in 1938?

a) George Lloyd

b) Winston Churchill

c) Clement Atlee

d) Neville Chamberlain

20. Which of these countries was a British colony?

a) Japan

b) New Zealand

c) China

d) Mongolia

Entrance exam 2003
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2: Grammatical-Lexical Test version A   Time: 15 min.

name:
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room:




corrector:

date:




number of points:

Univerzitní číslo:


In each sentence only one of the four options is correct. Circle the correct answer.
1. Fortunately, nobody was ________ in the accident.

A/ broken

B/ damaged

C/ injured

D/ wounded

2. I’ll have to ________ some shopping after work.

A/ make

B/ made

C/ charge

D/ do

3. The articles on the notice board should be more ________ .

A/ topical

B/ actual

C/ updated

D/ immediate

4. Small whitewashed cottages are characteristic ________ this part of the country.

A/ with

B/ by


C/ of


D/ for

5. Quentin must go to France for the next ________ of his training.

A/ point

B/ stage

C/ stand

D/ step

6. Do you know that old saying “a________ stone gathers no moss”?

A/ rotating

B/ wet


C/ new


D/ rolling

7. I ________ understand your reasons for wanting to leave, but I still think there are one or two other points you ought to consider.

A/ quite

B/ highly

C/ greatly

D/ terribly

8. After his parents died, he was ________ by his grandfather.

A/ socialized

B/ brought in

C/ brought up
D/ civilized

9. ________ thirty minutes the bottle was empty.

A/ during

B/ within

C/ by


D/ for

10. I repeated the instructions once more ________ they hadn’t understood me.

A/ while

B/ whether

C/ in case

D/ if

11. Bill, ......................wanted to make an impression on Ann, took her to the best restaurant in the town.

A/ who

B/ that


C/ which

D/ as

12. He had a stroke two months ago and he has been .....................hospital since.

A/ at


B/ at the

C/ in


D/ at a

13. Stop ........................ - be brave enough to give up that awful habit!

A/ to smoke

B/ and smoke

C/ smoking

D/ with smoking

14. Everybody thought he was guilty but I didn’t. He .......................... him.

A/ can’t murdered
B/ can’t have murdered    C/ can’t murder
D/can’t had murdered
 

15. We are going to have a celebration on May Day - by that time we ................... together for ten years!

A/ will have been
B/ are

C/ will have been being
D/ will be

16. It’s high time we ....................... them the truth.

A/ tell


B/ had told

C/ told


D/ should tell

17. Give me a call as soon as you ........................... home!

A/ will come

B/ come

C/ came

D/ would come

18. He thought she ........................... about it.

A/ has already heard
B/ had already heard
C/ heard
D/ was already heard

19. I still miss John, I wish I ............................ him.

A/ have never left
B/ had never left
C/ never left

D/ would never left

20. If their goods  ........................... less expensive they wouldn’t have any problems getting more customers.

A/ were 

B/ had  been

C/ was


D/ is   

Entrance exam 2003

Part
3: Reading version A 
Time: 30 min.

name:




combination subjects:

room:




corrector:

date:




number of points:

Univerzitní číslo:


Read the text and solve the 4 tasks given at the end.

The Kangaroo-Meat Debate

Kangaroos – should we eat them? On one hand, the animal rights lobby claims that killing kangaroos is cruel and that the meat itself may not be disease-free. On the other, farmers and ecologists say the culling of kangaroos is a humane way to bring population numbers down to levels the environment can tolerate. Meat-industry representatives say that meat harvested by licensed shooters is properly inspected and safe to eat; it’s generally accepted that kangaroo meat is a healthy low-cholesterol alternative to beef and mutton.


A lot is at stake. The kangaroo meat and hide industry employs about 4000 people in Australia and generates more than A$200 million a year. In Britain, kangaroo meat sales have been booming, helped along by fears of mad-cow disease, which have put people off beef. However, in September 1997 giant British supermarket chain Tesco banned kangaroo meat from 350 stores after a Sunday newspaper ran a disturbing feature, with pictures, on a kangaroo hunt in the Australian Outback. The farmer involved was not a licensed hunter and was not working in the meat industry. Nevertheless, kangaroo meat was taken off the shelves. This left Australian meat-industry representatives fuming, as kangaroo meat sold for human consumption in supermarkets and restaurants comes from licensed hunters governed by a code of practice, and is subject to strict hygiene standards. 


Kangaroos are indigenous to Australia and the species hunted for human consumption are not endangered. Government estimates put the total population at between 15 million and 25 million (depending on the availability of food and water from one season to another). Each year the government earmarks a certain number (about 10% to 15% of the total) for harvesting. State and territory governments issue permits to shooters who may then, with landholders’ consent, hunt on private property (national parks and reserves are off-limits). 


While emus and crocodiles are farmed for their meat, the kangaroo is shot in the field at night, using spotlights, high calibre rifles and telescopic sights. Hunters and wildlife authorities claim that a bullet shot straight into the head is quick and humane. However, animal rights advocates claim otherwise. They claim the hunt itself (with its lights and noise), let alone the killing, is highly stressful. Others would say this is a lot less stressful than death by starvation. 


Unfortunately, a fair amount of killing goes on by unlicensed hunters who aren’t working for the meat industry, and distressing tales of cruelty surface from time to time. The RSPCA and conservation agencies prosecute occasionally, but it’s difficult to positively identify the perpetrators. 


Formerly seen as a pest, the kangaroo is now increasingly viewed as a resource. For the kangaroo this could mean more room to roam, as graziers are encouraged to take cloven-hoofed animals off marginal land that should never have been conventionally farmed anyway. The payoff for farmers would be money earned from harvesting kangaroos when they become too numerous and destructive, and for the environment it means a chance to regenerate. 

TASK 1

Find in the text a suitable place for these extracts and indicate your decision by inserting the appropriate number into the text, like in this example:





          1





      2

Perhaps the most amazing Olympic of all time was American gymnast George Eyser. Despite the fact that he was well over 30 and had a wooden leg!

1. ,certainly better than steel traps or poison

2. TO BE MANAGED ALONG WITH OTHER VARIABLES TO ENSURE THE LAND REMAINS FERTILE AND PRODUCTIVE

TASK 2

Decide whether these statements are true or false and indicate your decision by putting T or F into the box.

1. Only hunters with a permit and landholders' consent are allowed to hunt kangaroos in national parks.


2. The fact that kangaroos are killed for their meat does not threaten their numbers. 

TASK 3

Answer the question. 

Why was kangaroo meat banned in Tesco in 1997?

______________________________________________________________________________________________________________________________________________________

TASK 4

Write out the word from the text, the meaning of which is a "person who commits a crime or does something considered outrageous".

_________________

Kritéria pro vyhodnocení a postup, jakým se stanoví výsledek přijímací zkoušky nebo její části:

Celkový počet bodů z 1. TESTOVé čáSTI - KULTURNíHO TESTU: 20

celkový počet úloh: 20

METODIKA HODNOCENí: KAžDá SPRáVNá úloha = 1 bod

(správné odpovědi jsou vyznačeny tučným písmem)

Celkový počet bodů z 2. TESTOVé čáSTI - gramaticko-lexikálního  TESTU: 40

celkový počet úLOH: 20

METODIKA HODNOCENí: KAžDá SPRáVNá úLOHA = 2 body

(správné odpovědi jsou vyznačeny tučným písmem)

Celkový počet bodů z 3. TESTOVé čáSTI - TESTU čTENí S POROZUMěNíM: 40

celkový počet úloh: 4

Řešení:

Testová úloha 1:

1. Jako správné řešení je uznáváno zařazení větné konstrukce 1 ",certainly better than steel traps or poison" do 4. odstavce, a to buď 

a) za slovo "humane" (a před "However");

nebo

b) za slovo "starvation" na úplný závěr odstavce.

2. Jako správné řešení je uznáváno zařazení větné konstrukce 2 "to be managed along with other variables to ensure the land remains fertile and productive" do posledního odstavce za výraz "resource" (a před "For").

Testová úloha 2:

1. Only hunters with a permit and landholders' consent are allowed to hunt kangaroos in national parks.

2. The fact that kangaroos are killed for their meat does not threaten their numbers. 

Testová úloha 3:

Jako správná odpověď byla uznávána ta, ve které byla podána informace z 2. odstavce (klíčová slova: newspaper feature, pictures on a kangaroo hunt, not a licensed hunter). Za gramaticky nesprávnou formulaci bránící porozumění byly úměrně odečítány body.

Testová úloha 4:

Perpetrator(s)

kritéria pro vyHODNOCENí: 

Testová úloha 1: 16 bodů (8 bodů za každé správné umístění větné konstrukce do textu)

Testová úloha 2: 8 bodů (4 body za každou správnou položku)

Testová úloha 3: 8 bodů za správně odpovězenou otázku

Testová úloha 4: 8 bodů za vypsání správného výrazu

Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 69


Nejlepší možný výsledek písemné přijímací zkoušky: 100


Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 84


Průměrný výsledek písemné přijímací zkoušky: 36,1304348


Směrodatná odchylka výsledků písemné přijímací zkoušky: 27,1618408

Decilové hranice výsledku zkoušky:

Decil d1

0


Decil d2

0


Decil d3

0


Decil d4

39


Decil d5

46


Decil d6

50


Decil d7

56,2


Decil d8

59,4


Decil d9

64,8


Test z angličtiny - varianta B

Úplné zadání písemné přijímací zkoušky nebo její části (u testů s výběrem odpovědi správné řešení):      

Entrance exam 2003

Part
1: Cultural test version B

Time: 15 min.

name:





combination subjects:

room:





corrector:

date:





number of points:

Univerzitní číslo:


Svým podpisem stvrzuji, že jsem seznámen(a) s Harmonogramem přijímacího řízení na FF OU na akademický rok 2003/04 a že se seznámím s výsledky přijímacího řízení na úřední desce FF OU nebo na internetových stránkách http://stag.osu.cz/prijimacky2/index. Svým podpisem rovněž stvrzuji, že jsem způsobilý(á) vykonat písemný test.








Podpis:


Potvrzuji, že jsem byl(a) seznámen(a) se skutečností, že v přijímacím testu nelze používat obyčejnou tužku a že je nutné rozlišovat mezi velkými a malými písmeny.








Podpis:


1. What is celebrated on 4th July in the United States?

a) Thanksgiving Day

b) Memorial Day

c) Independence Day

d) Veterans’ Day

2. Which of these people was not American president?

a) Robert Kennedy

b) Jimmy Carter

c) John Adams

d) Woodrow Wilson

e) Lyndon B. Johnson

3. The Battle of Gettysburg happened in the

a) French and Indian War.

b) War of Independence.

c) Mexican War.

d) Civil War.

e) Star Wars.

4. Thomas Jefferson was

a) an African American civil rights leader.

b) an American astronaut who perished in the Challenger catastrophe.

c) a U.S. president who wrote most of the Declaration of Independence.

d) a popular rapper, one of the predecessors of Eminem.

5. Who is the contemporary American Vice President?

a) Al Gore

b) James Cook

c) Robin Cook

d) Dick Cheney

e) William Boeing

6. Holden Caulfield is the protagonist of the novel

a) For Whom the Bell Tolls.

b) The Catcher in the Rye.

c) Catch-22.

d) On the Road.

7. Who is the author of the novel The Grapes of Wrath?

a) John Steinbeck

b) Jack London

c) Theodore Dreiser

d) Lockheed Martin

e) Herbert Wells Fargo

8. Which of these states is not located in the South of the USA?

a) Mississippi

b) Ohio

c) Alabama

d) Louisiana

e) North Carolina

9. Which city grew rapidly as a result of the Gold Rush?

a) San Francisco

b) New Orleans

c) Detroit

d) Las Vegas

e) Philadelphia

10. Which is the largest ethnic minority in the United States?

a) Jews  

b) Asian Americans

c) Native Americans

d) African Americans

11. Which of these islands is not close to the British coast?

a) Isle of Man

b) Isle of Skye

c) Rhum

d) Falkland Islands

12. The UK includes 

a) England, Scotland and Ireland.

b) England, Scotland and Wales.

c) England, Scotland, Wales and Ireland.

d) England, Scotland, Wales and Northern Ireland.

13. William the Conqueror who triumphed at the Battle of Hastings, was a 

a) Viking.

b) Roman.

c) Celt.

d) Norman.

14.  Stonehenge was constructed approximately

a) 15 000 B.C.

b) 2 500 B.C.

c) in the 5th century.

d) in the 10th century.

15. Since 1900, the most serious clashes between Protestants and Catholics have taken place in

a) Wales.

b) Scotland.

c) Northern Ireland.

d) Northern England.

16.  Who is the present British Minister for Foreign Affairs?

a) Tony Blair

b) Jack Straw

c) Robin Cook

d) George Robertson

17.  Which of these writers is not Irish?

a) James Joyce

b) George Orwell

c) Oscar Wilde

d) George Bernard Shaw

18. Which of these TV channels is British?

a) CNN

b) RTL

c) BBC

d) CBS

19. Which Prime Minister was in office when WWII broke out?

a) Winston Churchill

b) Robert Walpole

c) Neville Chamberlain

d) Clement Atlee

20. Which of these countries has never been a British colony?

a) India

b) Australia

c) South Africa

d) Algeria

Entrance exam 2003
Part
2: Grammatical-Lexical Test version B   Time: 15 min.

name:




combination subjects:

room:




corrector:

date:




number of points:

Univerzitní číslo:


In each sentence only one of the four options is correct. Circle the correct answer.
1. The Sussex industrial architecture is part of the English national ________ .

A/ ancestry

B/ heritage

C/ inheritance

D/ tradition

2. He ________ a resumé of the novel for me but I lost it.

A/ made

B/ done

C/ gathered

D/ make

3. Mr Butterlover spread the butter ________ on his bread.

A/ broadly

B/ deeply

C/ highly

D/ thickly

4. They are still searching for a solution ________ the problem.

A/ for


B/ of


C/ to


D/ on

5. Talk about clumsy! He was ________ a bull in a china shop!

A/ alike

B/ like


C/ as


D/ in spite

6. The complaints he received were like water off a duck’s ________ .

A/ back

B/ feathers

C/ wings

D/ body

7. After the crash, a number of people were taken to hospital with ________ injuries.

A/ great

B/ high

C/ deep

D/ serious

8. During the war, the black market in luxury goods ________ .

A/ blossomed

B/ bloomed

C/ flourished

D/ flowered

9. Claims for compensation could ________ run into billions.

A/ well 

B/ far


C/ much

D/ most

10. There was a(n) ________ of freshly baked bread coming from the field kitchen.

A/ reek

B/ aroma

C/ odour

D/ drift

11. He said he had no money, ........................... was not true.

A/ that


B/ which

C/ what

D/ however

12. After three months .........................and with no land in sight the sailors felt exhausted.

A/ at the sea

B/ in sea

C/ at sea

D/ by sea 

13. Remember .......................... the windows before you leave - it´s been so windy recently.

A/ to close

B/ closing

C/ shutting

D/ that you close

14. I don’t think he was surprised, he ..........................about it.

A/ must heard

B/ must hear

C/ must had heard
D/ must have heard

15. If the police .......................... better organised no crime would remain unsolved.

A/ was


B/ is


C/ had been

D/ were 

16. I don’t feel at home in London. I wish I ......................... from Ostrava.

A/ have never moved
B/ would never move
C/ would never moved
D/ had never moved

17. Let me know as soon as you ........................ it.

A/ find

B/ will find

C/ would find

D/ found

18. She told me that he ............................ his leg.

A/ broke

B/ was breaking
C/ has broken

D/ had broken

19. It is time we ......................... something to eat.

A/ had


B/ should have
C/ had had

D/ have

20. By the end of next month he ........................ here for ten years.

A/ will have been
B/ will be

C/ will have been being
D/ is

Entrance exam 2003
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corrector:
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number of points:

Univerzitní číslo:


Read the text and solve the 4 tasks given at the end.

The Kangaroo-Meat Debate

Kangaroos – should we eat them? On one hand, the animal rights lobby claims that killing kangaroos is cruel and that the meat itself may not be disease-free. On the other, farmers and ecologists say the culling of kangaroos is a humane way to bring population numbers down to levels the environment can tolerate. Meat-industry representatives say that meat harvested by licensed shooters is properly inspected and safe to eat; it’s generally accepted that kangaroo meat is a healthy low-cholesterol alternative to beef and mutton.


A lot is at stake. The kangaroo meat and hide industry employs about 4000 people in Australia and generates more than A$200 million a year. In Britain, kangaroo meat sales have been booming, helped along by fears of mad-cow disease, which have put people off beef. However, in September 1997 giant British supermarket chain Tesco banned kangaroo meat from 350 stores after a Sunday newspaper ran a disturbing feature, with pictures, on a kangaroo hunt in the Australian Outback. The farmer involved was not a licensed hunter and was not working in the meat industry. This left Australian meat-industry representatives fuming, as kangaroo meat sold for human consumption in supermarkets and restaurants comes from licensed hunters governed by a code of practice, and is subject to strict hygiene standards. 


Kangaroos are indigenous to Australia and the species hunted for human consumption are not endangered. Government estimates put the total population at between 15 million and 25 million (depending on the availability of food and water from one season to another). Each year the government earmarks a certain number (about 10% to 15% of the total) for harvesting. State and territory governments issue permits to shooters who may then, with landholders’ consent, hunt on private property (national parks and reserves are off-limits). 


While emus and crocodiles are farmed for their meat, the kangaroo is shot in the field at night. Hunters and wildlife authorities claim that a bullet shot straight into the head is quick and humane; certainly better than steel traps or poison. However, animal rights advocates claim otherwise. They claim the hunt itself (with its lights and noise), let alone the killing, is highly stressful. Others would say this is a lot less stressful than death by starvation. 


Unfortunately, a fair amount of killing goes on by unlicensed hunters who aren’t working for the meat industry, and distressing tales of cruelty surface from time to time. The RSPCA and conservation agencies prosecute occasionally, but it’s difficult to positively identify the perpetrators. 


Formerly seen as a pest, the kangaroo is now increasingly viewed as a resource to be managed along with other variables to ensure the land remains fertile and productive. For the kangaroo this could mean more room to roam, as graziers are encouraged to take cloven-hoofed animals off marginal land that should never have been conventionally farmed anyway. The payoff for farmers would be money earned from harvesting kangaroos when they become too numerous and destructive, and for the environment it means a chance to regenerate. 

TASK 1

Find in the text a suitable place for these extracts and indicate your decision by inserting the appropriate number into the text, like in this example:





          1





      2

Perhaps the most amazing Olympic of all time was American gymnast George Eyser. Despite the fact that he was well over 30 and had a wooden leg!

1. NEVERTHELESS, KANGAROO MEAT WAS TAKEN OFF THE SHELVES.

2. USING SPOTLIGHTS, HIGH CALIBRE RIFLES AND TELESCOPIC SIGHTS

TASK 2

Decide whether these statements are true or false and indicate your decision by putting T or F into the box.

1. In reserves and national parks it is allowed to hunt kangaroos with a government permit and landholders' consent. 

2. Animal rights advocates believe that poison is the most humane way of killing kangaroos.


TASK 3

Answer the question. 

Give a reason why shooting kangaroos is beneficial for the environment.

______________________________________________________________________________________________________________________________________________________

TASK 4

Write out the word from the text, the meaning of which is an "animal's skin, especially when bought and sold".

_________________

Kritéria pro vyhodnocení a postup, jakým se stanoví výsledek přijímací zkoušky nebo její části:

Celkový počet bodů z 1. TESTOVé čáSTI - KULTURNíHO TESTU: 20

celkový počet úloh: 20

METODIKA HODNOCENí: KAžDá SPRáVNá úloha = 1 bod

(správné odpovědi jsou vyznačeny tučným písmem)

Celkový počet bodů z 2. TESTOVé čáSTI - gramaticko-lexikálního  TESTU: 40

celkový počet úLOH: 20

METODIKA HODNOCENí: KAžDá SPRáVNá úLOHA = 2 body

(správné odpovědi jsou vyznačeny tučným písmem)

Celkový počet bodů z 3. TESTOVé čáSTI - TESTU čTENí S POROZUMěNíM: 40

celkový počet úloh: 4

Řešení:

Testová úloha 1:

1. Jako správné řešení je uznáváno zařazení větné konstrukce 1 "Nevertheless, the kangaroo meat was taken off the shelves." do 2. odstavce, a to buď 

c) za slovo "industry" (a před "This");

nebo

d) za slovo "standards" na úplný závěr odstavce.

2. Jako správné řešení je uznáváno zařazení větné konstrukce 2 "using spotlights, high calibre rifles and telescopic sights" buď 

a) do 3. odstavce za výraz "off-limits" (tj. na samotný závěr);

nebo

b) do 4. odstavce za výraz "night" (tj. před výraz "Hunters").

Testová úloha 2:

1. In reserves and national parks it is allowed to hunt kangaroos with a government permit and landholders' consent. 

2. Animal rights advocates believe that poison is the most humane way of killing kangaroos.


Testová úloha 3:

Jako správná odpověď byla uznávána ta, ve které byla podána informace buď

a) z 1. odstavce (klíčová slova: bring population numbers down to levels the environment can tolerate);

nebo

b) z posledního odstavce (klíčová slova: land remains fertile and productive).

 Za gramaticky nesprávnou formulaci bránící porozumění byly úměrně odečítány body.

Testová úloha 4:
hide

kritéria pro vyHODNOCENí: 

Testová úloha 1: 16 bodů (8 bodů za každé správné umístění větné konstrukce do textu)

Testová úloha 2: 8 bodů (4 body za každou správnou položku)

Testová úloha 3: 8 bodů za správně odpovězenou otázku

Testová úloha 4: 8 bodů za vypsání správného výrazu


Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 79

Nejlepší možný výsledek písemné přijímací zkoušky: 100


Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 68


Průměrný výsledek písemné přijímací zkoušky: 29,1


Směrodatná odchylka výsledků písemné přijímací zkoušky: 26,79953


Decilové hranice výsledku zkoušky:

Decil d1

0

Decil d2

0

Decil d3

0

Decil d4

0

Decil d5

39,5

Decil d6

48

Decil d7

50,3

Decil d8

56

Decil d9

61,2

Test z angličtiny - varianta C

Entrance exam 2003

Part
1: Cultural test version C

Time: 15 min.

name:





combination subjects:

room:





corrector:

date:





number of points:

Univerzitní číslo:


Svým podpisem stvrzuji, že jsem seznámen(a) s Harmonogramem přijímacího řízení na FF OU na akademický rok 2003/04 a že se seznámím s výsledky přijímacího řízení na úřední desce FF OU nebo na internetových stránkách http://stag.osu.cz/prijimacky2/index. Svým podpisem rovněž stvrzuji, že jsem způsobilý(á) vykonat písemný test.








Podpis:


Potvrzuji, že jsem byl(a) seznámen(a) se skutečností, že v přijímacím testu nelze používat obyčejnou tužku a že je nutné rozlišovat mezi velkými a malými písmeny.








Podpis:


Circle the correct answer.

1. What is the height of Ben Nevis, the highest peak in Britain?
a) 1343 metres above sea level
b) 2343 metres above sea level 
c) 3343 metres above sea level
d) 4343 metres above sea level
2.Which century do you associate with Victorian England?

a) 17th
b) 18th
c) 19th
d) 20th
3. In which decade was Margaret Thatcher the British Prime Minister?

a) 1960’s

b) 1970’s

c) 1980’s

d) 1990’s

4. Who is the author of The Picture of Dorian Gray?

a) Oscar Wilde

b) Charles Dickens

c) John Milton

d) G. B. Shaw

5. Tony Blair, the British prime minister, is the leader of …

a) The Conservative Party

b) The Republican Party

c) The Social Democratic Party

d) The Labour Party

6. What is the London residence of the Queen of The United Kingdom?

a) Buckingham Palace

b) Westminster

c) Downing Street 10

d) Windsor Castle

7. Who was Benjamin Disraeli?
a) Reformer of the Conservative Party living in the 19th century

b) The first Conservative Prime Minister 

c) The founder of the Salvation Army
d) The founder of the Labour Party

8. Who is the author of The Canterbury Tales?

a) Geoffrey Chaucer
b) William Blake

c) William Shakespeare

d) Christopher Marlowe

9. Which century do you associate with the reign of Henry VIII?

a) 12th
b) 14th
c) 16th
d) 18th
10. Is Cardiff the capital of …

a) Northern Ireland

b) Wales

c) Scotland

d) Ulster

11. Who was Frank Lloyd Wright

a) pop art painter

b) film director

c) dramatist

d) singer

e) architect

12. Which of them was not American president?

a) Ronald Reagan

b) Jimmy Carter

c) Theodore Roosevelt

d) William Cody

e) Woodrow Wilson

13. Boston is a capital of

a) Massachussetts

b) Pennsylvania

c) New Jersey

d) Connecticut

e) Virginia

14. Which of these authors did not write in the 19th century?

a) Tennessee Williams 

b) Ralph Waldo Emerson 

c) James Fenimore Cooper 

d) Emily Dickinson 

e) Harriet Beecher Stowe 

15. Bob Dylan is a:

a) film director 

b) dramatist 

c) singer-songwriter 

d) jazz composer

16. The Battle of Gettysburg happened in the

a) French and Indian War.

b) War of Independence.

c) Mexican War.

d) Civil War.

e) Star Wars.

17. Who is contemporary American Vice President?

a) Al Gore

b) James Cook

c) Robin Cook

d) Dick Cheney

e) William Boeing

18. What was the name of the ship on which Puritan separatists reached Cape Cod in 1620?

The Mayflower

19. Which of these states is not located in the West of the USA?

a) Utah

b) Washington

c) Maine

d) Oregon

e) California

20. Arrange the historical succession of American presidents in the right order:

a) Abraham Lincoln 

b) Franklin D. Roosevelt 

c) Jimmy Carter 

d) John F. Kennedy 

e) George Washington

1…E……
    2…A……
   3…B……
4…D……
   5…C……

KRITÉRIA PRO VYHODNOCENÍ A POSTUP, JAKÝM SE STANOVÍ VÝSLEDEK 1. TESTOVÉ ČÁSTI

celkový počet bodů z 1. testové části: kulturního testu - 20

celkový počet úloh: 20 (1 bod za každou správně odpovězenou otázku)

správné odpovědi jsou označeny tučně

Entrance exam 2003
Part
2: Grammatical-Lexical Test version C   Time: 15 min.

name:




combination subjects:

room:




corrector:

date:




number of points:

Univerzitní číslo:


In each sentence only one of the four options is correct. Circle the correct answer.
1. Have you heard? Thirty people were seriously ___________ in the car accident last week!

A/ injured

B/ broken

C/ wounded


D/ damaged

2.  I’m not surprised. This is just typical ___________ him.

A/ for


B/ of


C/ on



D/ with

3.  Claims for compensation could ___________ run into billions.

A/ most

B/ much

C/ well


D/ far

4.  I can’t go with you. I have to ____________ some cooking and washing this afternoon.

A/ make

B/ have made

C/ do



D/ cope

5.  I repeated the instructions once more ____________ they hadn’t understood me.

A/ if


B/ while

C/whether


D/ in case

6.  They promised they would present only highly _____________ information.

A/ topical

B/ immediate

C/ actual


D/ updated

7.  No wonder he speaks English so well, he was born here but _____________ in Britain.

A/ brought about
B/ brought in

C/ brought up

D/ brought out

8.  During depressions the black market always _______________ .

A/ blossoms

B/ blooms

C/ flowers


D/ flourishes
9.  The Sussex industrial architecture is part of the English national _____________ .

A/ inheritance

B/ ancestry

C/ heritage


D/ tradition.

10.  I was _____________ dissapointed with the entrance exams results.

A/ highly

B/ greatly

C/ seriously


D/ bitterly
11.  They invited us for a dinner, _______________ was generally appreciated.

A/ that


B/ which

C/ what


D/ however

12.  They finally found him guilty and he is now ______________ .

A/ in prison

B/ at prison

C/ at the prison

D/ in the prison

13.  I don´t think this is my signature – I can’t even remember ______________ this paper.

A/ to read

B/ to have read
C/ that I read


D/ reading
14.  Now it’s too late, you _____________ much earlier.

A/ should start
 
B/ should have started
C/ should started
D/ should had started

15.  If the goods______________ less expensive people would be willing to buy more.

A/ were

B/ was



C/are


D/ is

16.  It’s high time you ____________ your responsibilities.

A/ had realized
B/ realized


C/ realize

D/ should realize

17.  In the past people thought that the Earth ____________ flat.

A/ is


B/ had been


C/ was


D/ has been

18.  You needn’t hurry – just have a look at it when you _____________ time.

A/ will have

B/ had



C/ have

D/would have

19.  I ___________ Australia. That’s why I want to go.

A/ had never been to
B/ have ever been to

C/ have never been in  D/ have never been to
20.  How tragic! I was at John’s funeral yesterday, he ____________ in the lake.

A/ had been drowning B/ has been drowning
C/ was drowning
D/ drowned
KRITÉRIA PRO VYHODNOCENÍ A POSTUP, JAKÝM SE STANOVÍ VÝSLEDEK 2. TESTOVÉ ČÁSTI
celkový počet bodů z 2. testové části: gramaticko-lexikálního testu - 40

celkový počet úloh: 20 (2 body za každou správně odpovězenou otázku)

správné odpovědi jsou označeny tučně

Entrance exam 2003

Part
3: Reading version C 
Time: 30 min.

name:




combination subjects:

room:




corrector:

date:




number of points:

Univerzitní číslo:


Read the text and solve the 4 tasks given at the end.

The Kangaroo-Meat Debate

Kangaroos – should we eat them? On one hand, the animal rights lobby claims that killing kangaroos is cruel and that the meat itself may not be disease-free. On the other, farmers and ecologists say the culling of kangaroos is a humane way to bring population numbers down to levels the environment can tolerate. Meat-industry representatives say that meat harvested by licensed shooters is properly inspected and safe to eat; it’s generally accepted that kangaroo meat is a healthy low-cholesterol alternative to beef and mutton.


A lot is at stake. The kangaroo meat and hide industry employs about 4000 people in Australia and generates more than A$200 million a year. In Britain, kangaroo meat sales have been booming, helped along by fears of mad-cow disease, which have put people off beef. However, in September 1997 giant British supermarket chain Tesco banned kangaroo meat from 350 stores after a Sunday newspaper ran a disturbing feature, with pictures, on a kangaroo hunt in the Australian Outback. The farmer involved was not a licensed hunter and was not working in the meat industry. Nevertheless, kangaroo meat was taken off the shelves. This left Australian meat-industry representatives fuming, as kangaroo meat sold for human consumption in supermarkets and restaurants comes from licensed hunters governed by a code of practice, and is subject to strict hygiene standards. 


Kangaroos are indigenous to Australia and the species hunted for human consumption are not endangered. Government estimates put the total population at between 15 million and 25 million. Each year the government earmarks a certain number (about 10% to 15% of the total) for harvesting. State and territory governments issue permits to shooters who may then, with landholders’ consent, hunt on private property (national parks and reserves are off-limits). 


While emus and crocodiles are farmed for their meat, the kangaroo is shot in the field at night, using spotlights, high calibre rifles and telescopic sights. Hunters and wildlife authorities claim that a bullet shot straight into the head is quick and humane; certainly better than steel traps or poison. However, animal rights advocates claim otherwise. They claim the hunt itself (with its lights and noise), let alone the killing, is highly stressful. 


Unfortunately, a fair amount of killing goes on by unlicensed hunters who aren’t working for the meat industry, and distressing tales of cruelty surface from time to time. The RSPCA and conservation agencies prosecute occasionally, but it’s difficult to positively identify the perpetrators. 


Formerly seen as a pest, the kangaroo is now increasingly viewed as a resource to be managed along with other variables to ensure the land remains fertile and productive. For the kangaroo this could mean more room to roam, as graziers are encouraged to take cloven-hoofed animals off marginal land that should never have been conventionally farmed anyway. The payoff for farmers would be money earned from harvesting kangaroos when they become too numerous and destructive, and for the environment it means a chance to regenerate. 

TASK 1

Find in the text a suitable place for these extracts and indicate your decision by inserting the appropriate number into the text, like in this example:

Perhaps the most amazing Olympic of all time was American gymnast George Eyser. Despite the fact that he was well over 30 and had a wooden leg!

1. (depending on the availability of food and water from one season to another)

2. Others would say this is a lot less stressful than death by starvation. 

TASK 2

Decide whether these statements are true or false and indicate your decision by putting T or F into the box.

1. Only hunters with a permit and landholders' consent are allowed to hunt kangaroos in national parks.


2. The fact that kangaroos are killed for their meat  threatens their numbers. 

TASK 3

Answer the question. 

Give a reason why shooting kangaroos is beneficial for the environment.

______________________________________________________________________________________________________________________________________________________

TASK 4

Write out the word from the text, the meaning of which is  "to move without any definite aim or destination".

_________________

KRITÉRIA PRO VYHODNOCENÍ A POSTUP, JAKÝM SE STANOVÍ VÝSLEDEK 3. TESTOVÉ ČÁSTI

celkový počet bodů z 3. testové části: testu čtení s porozuměním – 40

celkový počet úloh: 4

Řešení:

testová úloha 1:

Jako správné řešení je uznáváno zařazení větné konstrukce 1 “(depending on the availability of food and water from one season to another)” do 3. odstavce za výraz “25 million” (a před “Each year”).

Jako správné řešení je uznáváno zařazení větné konstrukce 2 “Others would say this is a lot less stressful than death by starvation.” do 4. odstavce za výraz “stressful” (tj. na samotný závěr odstavce).

testová úloha 2:
1. Only hunters with a permit and landholders' consent are allowed to hunt kangaroos in national parks.


2. The fact that kangaroos are killed for their meat  threatens their numbers. 

testová úloha 3:

Jako správná odpověď byla uznávána ta, ve které byla podána informace buď z 

a) prvního odstavce (klíčová slova: to bring population numbers down to levels the environment can tolerate”);

nebo z

b) posledního odstavce (klíčová slova: land can regenerate).

Za gramaticky nesprávnou formulaci bránící porozumění byly úměrně odečítány body.

testová úloha 4:

(to) roam

KRITÉRIA PRO VYHODNOCENÍ:

testová úloha 1: 16 bodů (8 bodů za každé správné umístění konstrukce do textu)

testová úloha 2: 8 bodů (4 body za každou správnou položku)

testová úloha 3: 8 bodů za správně odpovězenou otázku

testová úloha 4: 8 bodů za vypsání správného výrazu

Základní statistické charakteristiky písemné přijímací zkoušky nebo její části:


Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 9


Nejlepší možný výsledek písemné přijímací zkoušky: 100


Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 78


Průměrný výsledek písemné přijímací zkoušky: 46,4444444


Směrodatná odchylka výsledků písemné přijímací zkoušky: 18,4999166


Decilové hranice výsledku zkoušky:

Decil d1

26,2

Decil d2

34

Decil d3

39,2

Decil d4

41,2

Decil d5

42

Decil d6

42

Decil d7

50,4

Decil d8

63,2

Decil d9

74,8

Ostrava 18. června 2003

Zpracovaly: Mgr. Petra Lexová a Petra Barešová

Za správnost odpovídá: PhDr. Stanislav Kolář
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